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𝑇1

2𝐻2(𝑔) + 𝑂2(𝑔) = 2𝐻2𝑂(𝑔)

 

𝑇1

𝑄0(𝑇1) = ∆𝐻
0(𝑇1)

 

 

 𝑇2 = 𝑇1 + 100𝐾

∆𝐻0(𝑇2)

∆𝐻0(𝑇1)

𝐶𝑝,𝑚 ≈ 30𝐽. 𝐾
−1𝑚𝑜𝑙−1

(2𝐻2(𝑔) + 𝑂2(𝑔))𝑇2
= (2𝐻2𝑂(𝑔))𝑇2

(2𝐻2(𝑔) + 𝑂2(𝑔))𝑇1
= (2𝐻2𝑂(𝑔))𝑇1
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 ∆𝑟𝐻
0(𝑇)
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(𝐶𝐻4(𝑔) + 2𝑂2(𝑔)) = 𝐶𝑂2(𝑔) + 2𝐻2𝑂(𝑙)

 

 

{
 
 

 
 𝑎1𝑋1

∆𝑟𝐻13
0

→   𝑎3𝑋3

𝑎1𝑋1
∆𝑟𝐻12

0

→   𝑎2𝑋2

𝑎2𝑋2
∆𝑟𝐻23

0

→   𝑎3𝑋3

∆𝑟𝐻13
0 = ∆𝑟𝐻12

0 + ∆𝑟𝐻23
0
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- 𝑃(𝑉)

- 𝑃(𝑇)

𝑃(𝑇)

 

𝑚 𝑚𝑔 𝑚𝑙

- 𝑥𝑔 =
𝑚𝑔

𝑚

- 𝑥𝑙 =
𝑚𝑙

𝑚
= 1 − 𝑥𝑔

𝑥𝑙 𝑥𝑔 𝑀

𝑥𝑙 =
𝑀𝐺

𝐿𝐺
𝑥𝑔 =

𝐿𝑀

𝐿𝐺
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Dans le cas de l’eau ∆𝑣𝑎𝑝𝐻
0(373𝐾) ≈ 40𝑘𝐽.𝑚𝑜𝑙−1 et ∆𝑓𝑢𝑠𝑖𝐻

0(273𝐾) ≈ 6𝑘𝐽.𝑚𝑜𝑙−1 

 

 

 

 

 

𝑣𝑙

𝑇 𝑃 𝑣𝑔

𝑇 𝑃

𝑀

𝑣𝑀 = 𝑥𝑙𝑣𝑙 + (1 − 𝑥𝑙)𝑣𝑔

𝑥𝑙 =
𝑣𝑀 − 𝑣𝑔

𝑣𝑙 − 𝑣𝑔
=
𝑀𝐺

𝐿𝐺

𝑥𝑔 =
𝐿𝑀

𝐿𝐺

ℎ𝑙

𝑇 𝑃 ℎ𝑔

𝑇 𝑃

𝑀

ℎ𝑀 = 𝑥𝑙ℎ𝑙 + (1 − 𝑥𝑙)ℎ𝑔

𝑥𝑙 =
ℎ𝑀 − ℎ𝑔

ℎ𝑙 − ℎ𝑔
=
𝑀𝐺

𝐿𝐺

𝑥𝑔 =
𝐿𝑀

𝐿𝐺

𝑠𝑙

𝑇 𝑃 𝑠𝑔

𝑇 𝑃

𝑀

𝑠𝑀 = 𝑥𝑙𝑠𝑙 + (1 − 𝑥𝑙)𝑠𝑔

𝑥𝑙 =
𝑠𝑀 − 𝑠𝑔

𝑠𝑙 − 𝑠𝑔
=
𝑀𝐺

𝐿𝐺

𝑥𝑔 =
𝐿𝑀

𝐿𝐺

 


